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POPULATION STUDIES

PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Read the following passage and answer the
questions given below : (1 - 6)

Nature cannot be understood as a
commodity, a resource; it can only be
understood in romance. ‘Cities give not the
human senses room enough.” Richer
aesthetic experiences are possible in forest
and field-more to see, smell, touch, taste,
more sense of space, time, place proportion.
‘In wilderness is the preservation of the
world.” Nature yields; Commodity; Beauty;
Language; and Discipline. The Planet’s
endless circulations give us sustenance, life,
life-support and prosperity. Nobler wants
are served by the beauties of wood and sky.
There is the necessity of being beautiful
under which every landscape lies. Such
beauty is reciprocal and ancillary to human
character and intellectual life.

Human life and society are, ought to
be lived in continuity with ‘nature’. We
should not look for the meaning of life in
technological advances — hoping using
electromagnetism to grow sozads quickly.
Such accomplishment will never replace
living out our three score and ten years
with roots in the soil, enjoying the seasons,
spring salads included.

Homosapiens is a microcosm, an
epitome of compendium of nature, in
whom nature comes to completion. Natural
phenomena have their glory unrealized,
until humans wake up to this, and this is a
principal destiny of mankind. Emerson
concludes his brooding over nature in the
philosophical idealism that underlies all his
thought : ‘Nature is the incarnation of a
thought.....the world is mind precipitated.’
But it takes long to see this.

1. To understand Nature, one has to be :
(A) Passionate
(B) Energetic
(C) Explorative
(D) Enthusiastic
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2.

Man-Environment relationship is

best expressed in :

(A) Technological advances

(B) Exploitation and use of natural-
resources

(C) Exploring the ‘unknown’ in
nature

(D) Living in continuity with nature

Man-Nature interaction is reflected

through :
(A) livelihood opportunities
provided by Nature

(B) Resource — use by the society
(C) Aesthetic experiences
(D) None of the above

Nature is understood as :
(A) Commodity to be used
(B) Resource to be exploited
(C) Incarnation of a thought
(D) A gift of God
The paragraph highlights the
(A) Economic value of Environment
(B) Abundance of Natural Resources
(C) Power of the beauty of Nature
(D) Nature as a life-support system
The tone of the passage is
(A) Analytical
(B) Descriptive
(C) Prescriptive
(D) Philosophical
Match List — I with List — II
according to the column of Gross
Nuptiality Table :

List - I List — 11
a. Probability of Marriage i. S

X

b. Number of Marrying ii. NM
at age x

c. Never Married at age x iii. M

X

X
d. Person years lived in iv. n,
Never Married State
Codes :
a b c d
(A) v i i il
B) iv i i i
© i od v i
D) i i v
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AT: T I H R (75) Sg-Toshedia Ue € | Wedeh U h At (2) 3T € | @t Ie e |

=1 TTerer @t ggeR A 63 v (1 - 6) F
I ferg |

TR B T, TAET F T T Fal GHSA
ST el €; T8 haol AT H THS ST gehdl
€ | TR A HogATsT i A I
AT I e HigdUeh IS I q Gl § &
e § — SRl 3%, gEH, TR A, 6@ %
foIT SomeT ©, STehTeT, WHE AT T ST
SET Y VS BT © | g H ST
TR BT & | Ui o, T, W 3
YA I € | UE % SR URGRHUT &H
€ | P TATIHAT FIE AT SRR h
g=d & R W OB § | g e W
NMATTHAT &, HF F=TId Uedsh -3Thid
forg & | T g=ear AFd AR a9 Sitesw
e o Ui =T U6 qREeh il & |

OFE STeA 3R AN &l UHid & 9qig
fR=Rar § @A 9feT | gelaTHeSH
YA A G AN H WM ST HSTRM
FA §U - YT S | gH e o 379
TE @IS =IET | UEl SuetiesE, gAR e
T R 3G a7 i g H TSl & 91 3@ g
Ft et & ST |

TARETE @Y FEE €, UHd F AR’
e &1 g T STEE wia quEer ae uged
£ | UTHiaE UReYT H ST TiRG & 5 e
T HFE Tk Ufd ST A&l & S & a9 a%
T Irwa TE fopar ST geR, 3R FE Hear
H ygE A € | TRET 7 R W AT
i 1 FhY IR STEYE B e S
% Sae [ 9= | siafed o - uwa |
FHTETC ...... ST SYEITT AR 7,
TR F€ IEH H T GHF A ¢ |

1. UHd & WEH % fau A w6t
Tt o @ =1 & Tgar & 2
(A) wrEvEoT
(B) il
(C) 3r=avig
(D) ST a7 SRy
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2.

THE-JaTeR0] Ty Fefaiad 5 ead
AT e BT & 2

(A) YT 3+d

(B) WTehicieh THTET ST INOOT T SUFNT
(C) VA o ‘3T i TATOT

(D) == U & T T

AHE-UFH 3dfshar (H=feiad & Arem
@Wﬁﬁf%

(A) TP R IS ST & STaET
(B) ST §RT FETEH SHAT

(C) WIEdRE T

(D) SUIH | I HIE T

T & G H T T ¢ 2

(A) SN HH B TG E |
(B) FW T o4 & o A & |
(C) WEfTeRHFAIFTL |
(D) T H SERE |

qea
(B) WTehicish TETERT i YRl i
(C) Upia % Higd Y VTR I
(D) STaH-3MYR e & €9 § Ui i

R o 9T
(A) Towemorers E 1(B) foaRomers € |
(C) TRemAs g | (D) WIS |

ToheT dalfeshl TR0 & TR & STaR
T — I & gt — 11 3 9rer gaford

e -1 =t - 11
a. foame St grregar i. S

b. S x RioaE &H aen  ii. NM
Cakste)

c. I x T HH forafed F& il M,

d. 4 faared & & f=afq iv. n,

H 75 3 foree

X

a b c d
(A v 1 i il
B) v i il i
(C) i i iv i
D) i i i v
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10.

11.

12.

13.

14.

15.

Which among the following is a
Cohort rate in Population studies ?
(A) Crude Birth rate

(B) Crude Death rate

(C) Age specific Mortality rate

(D) None of the above

When the World Health Organization
(WHO) officially declared India a
Polio Free Country ?

(A) May 2013 (B) March 2014
(C) April 2005 (D) July 1987

According to the Special Bulletin of
the Sample Registration System in
India 2010-12 among the following
states which one is having highest
Maternal Mortality Rate ?

(A) Andhra Pradesh

(B) Assam

(C) Bihar and Jharkhand

(D) Rajasthan

According to the National Family
Health Survey (NFHS)-III Report
around what percentage of children
age 6-59 months were anaemic ?

(A) 40 (B) 50

(C) 60 (D) 70

The unit for presenting of Maternal
Mortality Rate is expressed in which
of the following ?

(A) Percentage live births

(B) Per thousand live births

(C) Per ten thousand live births

(D) Per one lac live births

The Reproductive and Child Health
Programme Phase one was in which

among the following categories ?

(A) October 1997 (B) March 2003
(C) March 2005 (D) April 2005

What is the main thrust of Caldwell’s

Wealth flow theory in the field of

fertility ?

(A) Wealth flow from parents to
children

(B) Wealth flow from children to family

(C) Wealth flow from local
government to family

(D) Wealth flow from public to
government

What are the bottlenecks hampering

delivery of health services ?

(i)  Availability of human and
material resources

(i1) Physical Accessibility and demand

(ii1) Continuity and quality of health
services

Codes : o

A 0O B WG

(©) (), (ii1) (D) (1), (1), (1i1)
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16.

17.

18.

19.

20.

During which among the following
periods, Maternal and Child Health
Services were integrated with Family
Planning Programmes in India ?

(A) Mid Sixties

(B) Mid Seventies

(C) Mid Eighties

(D) Mid Nineties

What were the Bamako Initiatives ?
(i) Targeting disease burden

(i) Geographical targeting

(iii)) Providing Cross-subsidies

(iv) Exempting Widows and Orphans
Codes :

(A) (@), (i1)

(B) (i), (iv)

©) (@), (i), (iii)

D) (@), (i), (iid), (iv)

Assertion (A) Non-Government

Organizations perform well in
certain situations.

Reason (R) Non-Government
Organizations  have  better
infrastructure.

Codes :

(A) (A)is true, (R) is true and (R) is
the correct explanation of (A).

(B) (A)is true, (R) is true but (R) is
not correct explanation of (A).

(©) (A) true and (R) is false.

(D) (A)is false and (R) is true.

An Indian, who conducted the U.N.
Mysore Population study

(A) Mahalanobis

(B) K.C.K.E.Raja

(C) C. Chandrasekaran

(D) W.M. Yates

Sampling biases arise due to :
(1)  Faulty selection of sample
(i1))  Substitution
(i11)) Faulty demarcation of units
Codes :
(A) () only
(B) (), (i1) only
(©) (), (iii) only
D) (), (1), (iii)
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8.

10.

11.

12.

13.

14.

15.

TG eEdEl H HiEle (WeTun) I
fefafag F @ Er e 2

(A) STRTTT S <

(B) 3TeNTYd 97 3T

(C) g faforee geg 5T

(D) ST H 9 HIE Tél

o @ gmed (WHO) = wRa &
AUAN ®7 ¥ Wie Jod 39 Ha
T fopa o 2

(A) #2013 (B) W& 2014
(C) WA 2005 (D) S[omE 1987
IR H 99N USEE usia & foaew
FeAfed 2010-12 & AR FefaEa o
T fore T | A1g g {T oA € 2
(A) 3T WY (B) 3W™W

(C) TR sREs (D) T

TAA Hiel ¢od W (TT.O%.TE.0E.)
I =t RUiE & AR, 6-59 AT & 35
% edl HT TR UiaeTd RISt AT
ST | 7 & 9
(A) 40 (B) 50
© 60 (D) 70

g g T B Ud B B THRE
fr=ferfiaa o @ fora o e ot ST € 2
(A) St S sl ST Ura9Td
(B) I &=IR Siifard S+
(C) Wid 39 &R STifad =9
(D) Wid Uk &g Sifed S

U 1 o917 @ HE%H 6
o7 — | F=fafea 9 | g ot | o1 2
(A) @Y 1997 (B) A 2003
(C) == 2005 (D) 3neT 2005

USRI & &F § hlogddl & GET
TelE g T 1 T WA (3 SR) 8 2
(A) TTr-faar | Seat B TR YA
(B) o=l ¥ URER sl T YaTE

(C) TIMT THR F URAR T THIET TaTe
(D) AT H THR H T TGTE

@ waret ®f goe H S S
T 3TST T § 2

()  HFEE o e TRIEAT bl SUcTsar
(i)  fifdqes =T @ Ji

A) () B) (). ()
©) (1), (q11) (D) @), (1), (111)
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16.

17.

18.

19.

20.

fr=fefaa & @ f5a #1 & RE 9ra
T A7g Ue 9167 WA 9t uieR fHaem
SHIAHH o AT FHTHIOTT i TS ol 2
(A) WIS TIH & qL

(B) TWX % I b T

(C) 3Tl o 391 o qeT

(D) = % T & T

STHTHT T 4T Y 9

(i) T % YR B 8T FHET

(i)  wimiets o1eg T

(iii) Wfc-3nfoTer TET=ar WS AT

(iv) foremmsti aen sl it g2 3

HE

(A) (), (1)

(B) (i), (iv)

©) (), (1), (1)

(D) (@), (i), (iii), (iv)

Ao (A) . THHR O F9
el § aresT MuRT = € |

FHROT (R) : T-AHRI-TSHT T JHaTaT
2T ST BT & |

FE

(A) (A) ¥ &, (R) ¥ & 3T (R),
(A) F TE AT E |

(B) (A) ¥4 &, (R) ¥4 &, A (R),
(A) I T AT T T |

(C) (A)TTE 3 (R) 3HAT |

(D) (A) JHFIE AR (R) AT |

JUA, GQT TGS TEET HIA Al
IRAT &

(A) AT (B) ®HEL&HE T
(C) ¥ T=FEA (D) THYTA. AT
wiaee amE HEfaiad sRor 8 S
G

() Iuer (WfseT) 1 T 99

(i) wfoemE

(i) ZoTEAl 1 TToTd HiHTehT

e

(A) &% (i) B) T (i), (i)

(©) F&k (), (i) (D) (), i), (i)
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21.

22,

23.

Match List — I with List — II :

List-1 List — 11
a. Conventi- i. IMR=
onal IMR M, A-f)b,
B, " B,
x 1000
b. Numerator ii. IMR =
adjusted D§ + Dlz)
IMR B x 1000
2
c. Denominat- iii. IMR =
or adjusted S
IMR [1 _ (Bz -D;
B,
P
B,-Dj -D;
B,-Dj
x 1000
d. In a yeariv. IMR=
three year D,
data /B, +(1 +/)B,
probability
of dying x 1000
between
birth and
exact age
are during
year 2.
Codes :

a b c d
(A) i i iv il
B i i i iv
©) i i il v
) 1 1 iv il
‘Fertility  varies inversely with
density of population.” Who said
this ?
(A) Saddler (B) Spencer
(C) Dumonte (D) Bongarts

Which one of the following is a non-
economic value of children ?

(A) Marginal Utility

(B) Consumption Utility

(C) Work Income Utility

(D) Social Utility

Paper-I11

24.

25.

26.

27.

28.

29.

30.

What are the factors that contribute

in economic growth ?

(i) Life expectancy

(i) Contribution of working age
population

(iii)) Contribution of urban population

Codes :

A) @) B) (i)

(©) (i), (i) D) @, (i), (iid)

Which Census, question on work
participation of women = was
expanded to include unpaid work in
the family firm or family enterprise ?
(A) 1981 (B) 1971
(C) 2001 (D) 1991

According to Potter (1972), on an
average, how many births are averted
with one (1) induced abortion
followed by no contraceptive use by

couples ?
A 1 B) 0.9
© 04 D) 0.7

In which year, Port Enumeration
Check was introduced in the Indian
Census ?

(A) 1941 B) 1951

© 1921 D) 1961

In which year, the Sample Registration
System was initiated in India ?

(A) 1947 -48 (B) 1960 - 61
(C) 1952-53 (D) 1963 -64

In which year, responsibility of vital
statistics was entrusted to the
Registrar General of India ?

(A) 1947 (B) 1951

(C) 1960 (D) 1971

Which of the following mathematical
method of projecting sub-national
population is same as the method
used by the Registrar General of
India (1987) to project district level
population in India ?

(A) Apportionment Method

(B) Regression Method

(C) Ratio Method

(D) None of the above

J-15-14



. A - Iﬁa;ﬁ 11 & a1 gaferd & -
= -

=t - 10
a. trr(mrFW i. IMR=
3TE.TH. 3R /M, A-f)D,
S
B1 B2
x 1000
b. 3 ii. IMR=
BEIRISG] D, + DY
IMR B x 1000
2
c. & HHEINT iii. IMR =
IMR S
[1_ B, -D;
B2
P
(Bl—D’l‘ -Db
S
Bl_Dl
x 1000
d &% # <9 iv. IMR = '
qar av 2 & D,
SRE @ fB,+(1 +f)B,
Lk % 1000
gg A
Cric o)
FHTIAT
F:
a b C d

A) i i v il
®) i i i v
©) i i il v
(D) i iv i

—

22, USTARTHAT UidAd ®q W SHEET %
T & WY URaidd el & 1”98 e
FETE 2
(A) T (B) W
©) i (D) e

23. SoEi @ SFIE qod EfarEd § 9
FAE?

(A) HrEwT Su=RTEr

(B) SO SUAIRTAT

(C) 1 U 1T i SYATAT

(D) WM SUARTAT
J-15-14

24.

25.

26.

27.

28.

29.

30.

31 g H DI T BRb FEH F & 2
(i)  STa g

(i) HEHR W B STEEAT H ARE

(ili) TR SHEET T IR

FHE

A @ (B) (i)

(©) (i), (iii) D) (@), (i), (iii)

RETReR B 91 TReNe Saq o 3TvEd
FHE B GHMOE & fou fod @&
I GEAITAT W U9 Bl [hg S0 |
fereaa fopam T & 2

(A) 1981 (B) 1971

(C) 2001 (D) 1991

UfeeX (1972) &% IFER, IHfaAl §RT
fopdt T FRTereR BT SUANT T R §U U
(1) URa T & | fhad sear &
ST 3Ta <ot ST € 2

A 1 (B) 0.9

) 04 D) 0.7

TRAF SIOFT §RT H0FT TR St
o g & guReT H TE o 2

(A) 1941 B) 1951

© 1921 (D) 1961

RA § AT US(EE 95T & | oy o
URRT {ohaT 71T 2

(A) 1947-48  (B)
(C©) 1952-53 (D)

Sliaq-geg  Witemhl (@ 3ifhg) Wi
SRR 69 ad § 9Rd % HeRSRER
T Hidr TE ot

(A) 1947 (B) 1951

©) 1960 (D) 1971

SUUEE  SHEE uefud W W@
fefetEa s ggioat & | # @t
el &, ST fop v | 7ol il s
1 HEIT B % o TR FeRiTER
(1987) FRT SUFNT i T &f 2

(A) 3T gl

(B) wfasmaor ugld

(©) eFma s

(D) SUIH H I HIE T

1960 - 61
1963 — 64
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31.

32.

33.

34.

3s.

Which of the following rates provides
an estimate of replacement in the
hypothetical cohort, given mortality
levels taken from current life table ?

(A) GRR
(B) TFR
(C) NRR

(D) None of the above

Who used the term ‘Demography’
first in a scientific way ?

(A) Guillard (B)
(C) Ryder

Spengler
(D) Moore

According to Prof. Bogue, the rapid
decline in mortality being witnessed in
most of the developing countries was
due to fall in which group of diseases ?

(A) Death from violence
(B) Cancer

(C) Infection, parasitic and
respiratory diseases

(D) Diseases of circulatory system

The 2001 Census do not provide
which of the following information
on migration ?

(A) Duration of stay at last residence
(B) Birth place

(C) Place of last residence

(D) Reason for migration

As per the 2001 Census, which are
the top three states, in terms of inter
state inmigration by last residence ?

(A) U.P., Bihar and Kerala

(B) U.P., Rajasthan and Madhya
Pradesh

(C) Bihar, Madhya Pradesh and
Kerala

(D) U.P., Bihar and Rajasthan

Paper-I11

36.

37.

38.

Match the following :

List -1 List - II
(Based on 2001
Census)

a. State/UT with 1.  Manipur
highest No. of Urban
Agglomerations

b. State/UT with ii. Tripura
highest No. of Town

c. State/UT with iii. Madhya
lowest No. of Urban Pradesh
Agglomerations

d. State/UT with iv. Tamil
lowest No. of Towns Nadu

Codes :

a b c d

(A) i v il i

@) i v i il

© 1 i ivil

(D) i il i v

Match the following :

List -1 List - II
(Population  (Propounded
Theory) by)

a. Law of 1. Spencer and
Population Gini

b. True Law of ii. Michael
Population Thomas

Sadler

c. Sociological iii. Edwin
Theories Cannan

d. Optimum iv. Thomas
Population Doubleday
Theory

Codes :

a b c d
(A) il v i iii
B) i iv il i
©) i iv i
D) i iv i il

—

‘Development is the best
contraception’ was stated at the World
Population Conference held at :

(A) Mexico, 1984

(B) Bucharest, 1974

(C) Cairo, 1994

(D) Belgrade, 1965
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31.

32.

33.

34.

3s.

T TR aqqE Sia Jiielt & o= wn
9 W, Hieyd HiEe d UldenaT
e FEfefEd @ &9 @ wEH
FATE 2

(A) SRR,

(B) IUEIR,

(C) TAIIAR,

(D) SUIH | I HIE T

AR &7 9 ST {ohaT 7T o 2
A) e (B) TR
(C) T (D) T

TG ST % STER, faehraenier s o
T X H ST el TR 3@t ST <@ ot &
M & Fefated wgel & 9w
TRIEE &% HROT 9 of ?

(A) FardHd

(B) W

©) Tuﬁﬁwwaﬁ%ﬁ

(D) Y&-aE a= % AT

2001 T SFITUFT YordT W FErargd °
T i I G SUCTSH el HAT & 92
(A) T Hamg ® e @i ety
(B) = ™

(C) et Femg &1 wm=

(D) VEE T HROT

2001 &t SFITUFT & SR, fuset e
JASTHIT 3T YT & ey

TR F T T DA E 2

(A) FI, R 3R e

(B) JUL., TTEA SR T TS

(C) foer, me wR¥r 3R e

(D) FUh, er % T

J-15-14

37.

38.

(A i1 iv il i
B) i v i il
<© i i v il

D) i 1 1 v
FefeAtEd 1 faem i
e -1 = - 11
(SEEAT BT (afaures)
Tag)

a. SFEENTH AR i W ud NE
b. SEEET H A i,  HEHA 9HT
o TS
c. WIS Magid  iil. Tsfem &
d. T=AH SEEET iv. 99 SIS

fagia
S

a b c d
(A) il v i iii
B) i iv il i
©) i i iv i
D) i iv i il

E WA foave sHgen a9 e

T T AT 9T 2

(A) Bfsgsi, 1984 (B) TE@RE, 1974
(C) T, 1994 (D) SoWE, 1965
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39.

40.

41.

42,

According to Human Development
Report (2007-08), how many people
were affected annually, during 2000
to 2004, by climate disasters ?

(A) 100 million

(B) 250 million

(C) 262 million

(D) 300 million

According to Human Development
Report (2007-08) climate change
could leave how many additional
people facing acute malnutrition by
the 2080s, through its impact on
agriculture and food security ?

(A) 400 million

(B) 500 million

(C©) 600 million

(D) 700 million

Assertion (A) : The dependency rate
of women is higher than that of
men in India.

Reason (R) : A majority of women
are reported as non-workers in
the Indian Census.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Match List — I with List — II.

List -1 List — II
(State) (Dependency
Ratio)
a. Bihar 1. 95
b. Kerala . 58
c. Tamil Nadu 1ii. 56

d. Uttar Pradesh iv. 92
Codes :

a b c d
(A) i i i v
B) ii i i v
©) v i il i
D) i1 v i ii

Paper-I11
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43.

44.

45.

46.

Assertion (A) : Human settlements
are a reflection of man’s
capacity to conquer physical
landscape.

Reason (R) : The physical landscape

is endowed with several
variations.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : Mega-cities of India
are growing in population size
at an alarming rate.

Reason (R) : There is a constant
migration to large-sized cities
from the rural areas.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is mnot the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Which one of the following is not

used to determine the quality of

Housing Stock in Census ?

(A) Type of Building material used
for floor, walls and roof

(B) Source of Drinking water

(C) Type of latrine facility

(D) Use of the Census House

India’s rank in terms of Human
Development Index (HDI) in 2011,
as per UN Human Development
Report, 2011, was :

(A) 136 (B) 134

) 119 (D) 135
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39.

40.

41.

42,

AHa faee fdie (2007-08) & 3R,
2000 ¥ 2004 T % IR STaTg AT
ERT fehc= AT a1fieh &9 | Tiferd gu 2

(A) 100 W\l (B) 250 fafe==
(C) 262 (D) 300 fafe==

aHa fasa A (2007-08) & 3TER
Sary URadd & helaed H el
T gl W YA R TR SATaeRT
ST ht 2080 T IS FHUTOT T FHAT
AT T GehelT € 2

(A) 400 W\l (B) 500 faferaa
(C) 600 WMo (D) 700 fafermaa

AUHUT (A) : TR H GHAT I 39T
TfgeATaT @l WA I T |
HROT (R) : TRAT STOAT | SATaehisr
et ot TR-HHR sa=r ™ e |
HE
(A) (A) 3T (R) AT T & 2 (R),
(A) I TE ATETE |
(B) (A) 3R (R) I 97 & W=
(R), (A) =t W& AT T&l ¢ |
(C) (A) TFE W (R) 3TAE |
(D) (A) A E, W] (R) TIE |

T — 1 1 g — 11 3 |1 GHfd e
e -1 =t - 11
(IT=T) (TRTSITIET SATT)

a. Toer i. 95

b. WA ii. 58

c. AMeMTg  iii. 56

d. ST iv. 92

A

A 1 i il v
B) i T VR
© v 1 oi i
D) i v i i

J-15-14
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43.

44.

45.

46.

Afirpe (A) . AFT SR i
JITFIA W o/ q= i A
& T Uiders € |

HRUT (R) : T 3P & Tgd 9 €7
ATEAE |

FE

(A) (A) 3R (R) FHI & & &R (R),

(A) T TEl AT E |

(B) (A) 3R (R) 3H ¥ & W
(R), (A) I HEl AT &1 € |

(C) (A) TFE, W (R) STAE |

(D) (A) 3T, g (R) TI & |

At (A) . YRA % HEHTRI W
TG % AHR T AT 57
YT S @/E |

FHRUT (R) : TTHT &5 F T HR &
TR T TR O 9 Y947 & @l
T

FE:

(A) (A) 3R (R) FHI & & &R (R),

(A) T TEl A E |

(B) (A) 3R (R) 3HI ¥ & W
(R), (A) Tt & AT T&l ¢ |

(C) (A) TFE W (R) TTAT |

(D) (A) I E, W (R) TAE |

SO H AT Wik i T[Ore

o #7 & forw f=fafed 5 9 59

ST A& T S ¢ 2

(A) 9, ERT R BT & feTT ITFRT
I ST STl FHTOT AT T TR

(B) U ST T &I

(C) ViETera Gieem 1 &Y

(D) STITUMT & T IR

T e uee g [ 2011 %

IR 2011 H AFE o gawis

(HDI) % 9w § R [ T T 4T 2

(A) 136 (B) 134

(©) 119 (D) 135
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47.

48.

49.

50.

S1.

Assertion (A) : Natural Disasters
create ecological imbalances in
the Human ecological
organisations.

Reason (R) : The structure of human
eco-system is the function of
technological inputs into the
system.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Which one of the following does not

constitute the definition of a slum ?

(A) A unit of settlement

(B) Basic facilities of Water &
Electricity

(C) Infrastructure

(D) People living in them

According to Fisher et al, 1991,

which is not the process of operations

research ?

(A) Problem definition

(B) Solution generation and testing

(C) Evaluation of solution and
dissemination

(D) Removing inefficient
corrupt managers.

and

In his ‘Essay on Population’, which

assumption is not made by Malthus ?

(A) Human beings have great
potential to produce children.

(B) In agriculture ‘Law  of
Diminishing Return’ operates.
(C) Passion between sexes is

necessary and unavoidable.
(D) Birth control is most essential
for all the sections of society.

As per Kingsley and Judith Blake,

which is not classified as factors

influencing fertility ?

(A) Intermediate factors affecting
fertility

(B) Factors governing exposure to
inter-course within Union

(C) Factors affecting exposure to
conception

(D) Factors affecting reproductive
morbidity

Paper-I11
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52,

53.

54.

5S.

Under approaches to evaluation of

Family Planning Programme, which

is not the ‘Intermediate Impact

Objective’ ?

(A) Desired reduction in birth rate

(B) Attaining a desired level of
contraceptive practices.

(C) Attitude of the people towards
accepting a small family size

norm

(D) Desired level of knowledge
about various contraceptive
methods.

What is not an ‘Nosocomal Infection’ ?

(A) An infection occurring in a
patient in a hospital in whom
the infection was not present at
the time of admission.

(B) Infection acquired in the
hospital but appearing after
discharge.

(C) Infection usually found among
hospital staff.

(D) Infection among  animals
acquired through virus.
A quick way to calculate

approximately doubling time for a
country’s population is :
50

(A) Population growth rate (%)

70
(B) Population growth rate (%)
100
© Population growth rate (%)
200
(D) Population growth rate (%)
Assertion (A) Inspite  of
implementation of NRHM,
India is unable to reach the
‘Millennium Development
Goals’.

Reason (R) : There is no effective
monitoring of activities in
NRHM.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is mnot the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

J-15-14



47.

48.

49.

50.

51.

AfTHIT (A) : UTPHIAH SMURTE
wﬁ&aﬁﬁamﬁwﬁ&aﬁaﬁa
\‘HHQ)C'H SCY~ %{dl%—l

HROT (R) : AFGE TRIEqHT sFewen
T TR I ¥ T W
ANTAT (3T9EH) B 1 ¥ |

HIS ’ .

(A) (A) 3R (R) AT T & 2 (R),
(A) B W == |

(B) (A) 3 (R) 3HI ¥ & WA
(R), (A) & T&l =T el ¢ |

(C) (A) TTE W (R) 3HAE |

(D) (A) I, g (R) TAE |

Tafed A H frAfatad § o9
T & & € 2

(A) &N & TS - .

(B) 7oA T fersfedl <hi eryet ieremd

(C) FFamEr gren

(D) 3T @ W A

TR w@ 3=, 1991 % 3ITFR,
MR @ i ufshar i 9 71 € 2
(A) T TR

(B) HHTY TS Q9T URIeTor

(C) THYM 3 T=R HT Joaish
(D)  STHITCT TAT W U4k i &

oo F 30 T 39 oY’ o

I I HHAT T el ST § 2

(A) THET H Sea B S 3 B Teg
e gt ¢ |

(B) FT H ‘GREEN Ud® H1 Fam
T HLATE |

(C) Tt & g YEide 3Mevas
3T e & |

(D) TES & W o % U gaid
Ry Fertfyes st ¢ |

et a1 S[EY s % oFER g

HRE I USTHA &TAAT BT T HA

AT RN H IR Tal [T T & 2

(A) USTHT &THAT I WIfad A STt
Teedr R

(B) WHeH & I Y9G e arel

FREH

(C) TYRTT i eI S ot R

(D) USTHA EUTT Sl USSR ol
FREH

J-15-14

52,

53.

54.

5S.

TRAR A HEHH & Godis ST o
ST, “TEIEdr T SE9E° i T R & 2
(A) S ¥ Fitsd wHt

(B) RIS wemati o1 aifsd T U

T
(C) B URAR 3MHR & UG
R A & Ufd AN T oan
(D) Tafa= e ugiqal & IR o

I 1 Aied T

77 T I I B GehH0T T el ¢ 2

(A) FEAT ¥ AW B GHAT BT
59 a1 o THT GehHT 7 o |

(B) Tt § WehHUT S 3T U= S
ST | T3l o 1S The &Il & |

(C) 3THAR T 3RAre o &% § 91T
ST ST ka7

(D) TS H HhHUT S GPRT & FNT
e fpar T €

I H TG F BAIT T e H
foTT T it RaToET R T g R ©
50
SHEET g5 3T (%)
70
(B) ST ghs & (%)
100
© == (%)
200
STEET s T (%)

(A)

D)

afimem (A) ;. TISRUTEUH. &
fpafad @ % R, 9RA
Tedss foepra oieai &l &l U
<hd 9T |

HROT (R) : TR TITH, & Tiqraraar
I B THERNA REN @
S

FiE

(A) (A) R (R) 5HI & & 3T (R),
(A) F TE AT E |

(B) (A) 3R (R) 3H ¥ & W
(R), (A) =l &l == & € |

(C) (A) TF & W (R) AT |

(D) (A) 3T, g (R) TI & |
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56.

57.

58.

Which of the following is true ?

(A) Estimated number of
contraceptive users through
surveys are more compared to
estimates obtained from service

statistics.
(B) Estimated number of
contraceptive users through

surveys are less compared to
estimates obtained from service

statistics.
(C) Estimates of number of
contraceptive  users  from

survey and service statistics are
ideally same.

Nothing could be said with
certainty as estimates depend
upon various demographic
factors.

D)

Given below are two statements. One

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) Punjab has the
highest percentage of persons
with drug addiction.

Reason (R) : It has become fashion
among youths to use drugs.

In the context of the two statements,

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

What is ‘Quasi Experimental Design’

in Population and Health Surveys ?

(A) Study subjects are randomly
allocated to experimental and
control units.

(B) Experimental and control units
are randomly selected and
randomization of study subjects
are performed within
experimental and control units.

(C) Two similar but independent

experimental units are purposely

selected for experimentation.

Experimental and control units

are randomly selected and then

study subjects are purposely
included for experimentation.

D)

Paper-I11
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59.

60.

61.

62.

Match the following :

List -1 List - II

a. Without social i. Bongaard
change, population
problem can not be
solved.

b. There is no point in ii. Maurice
spending money on King
malnourished
children.

c. Proximate iii. Lotka
determinant of
fertility

d. Stable population iv. Kingsley
model Davis

Codes :

a b c d

(A) v il i il

B) i i i v

<©) i iv i il
D) i S VI B A
What are the effectiveness of various
contraceptive methods under Family
Planning Programme ? Match the

following :

a. Sterilization 1. 90%
b. Oral Pills . 50%
c¢. Condom 1i. 100%
d. IUD 1v. 95%
Codes :

a b C d
(A) i i iv il
(B) iv iii i il

(© i Qi v
D) 1 m i iv
In a population survey, while

selecting households from a village,
it is not possible to get list of
households. Which random sampling
technique can be followed ?

(A) Simple Random Sampling

(B) Purposive Sampling

(C) Stratified Random Sampling
(D) Systematic Random Sampling

Which is correct statement given

below ?

(A) Crude death rate is independent
of age-specific death rate of
population under study.

(B) Crude death rate is independent
of age-distribution of
population under study.

(C) Crude death rate is function of

both the age specific death rate

and the age distribution of
population under study.

Crude death rate excludes

infant death rate in the

population under study.

J-15-14
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56.

57.

58.

frfefad & 9 9 T I & 2

(A) TROT  H W THERES
SUFIFART W ST G@ gar
Tt | U SFHAT 9 ST € |
TEgul ¥ ou iR
SUATSATST T STHIT T Fa
Hiferen! | T SFAMT H FH |
FALTUT TFAT FeT WiRFH H U
T SUATRITST Sl STEIT
T U QA & |

FT Ot FveagEs & wEr ST
& & Hifh FEE oty
STHITReIT HREHT T TR e & |

T 52 T < ot § U SR (A)

& 3N 8 BRI (R) ¥ |

fvrme (A)  UNTE wid o eTERt |
foreet STt BT Mo T |

HRUT (R) : JATE | TRMERT Th Yoo
BT ST @& |

&1 BT o Fed | T § i R § 0

FiE !

(A) (A) 3R (R) AT W&t & 3 (A)
T (R) HEl TEHOT € |

(A) 3R (R) T Tl €, T (A)

1 Fel TL0T (R) 7l & |

(A) W&l &, =] (R) Toid & |

(A) TAT &, T (R) TEN € |

SHEE 9l @R gowon 9
‘3t AT fester s e ?
(A) TFIT THE H UEINE el
=0T Tl § agtes®s w9 9
de TR ST & |
UEhTes aur Esor gerEar &
AGTH I ¥ 97 BT S &
IR Ed WE W
ATGFeSRIHIT UTARTER qer =07
THISAT & S (AT ST & |
T R F AU I U S
W e U gehrEal
YIRS T BT ¢ |
UEMTes qer a=mor Al &
Y 9 g9 T San €
3R T 3Tezra |el ot Ui &q
mgmﬂéo‘mwﬁ%%w
e |

(B)

©

D)

(B)

©
D)

(B)

©

(D)
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59.

60.

61.

62.

B) i i i iv
) i v i i

(D) i i i iv
IRER EsH Sy % 3iET fatr
TR Sl TTEreTieTdT o oot & :
a. SEEHOT i 90%
b. @M = MicEt ii. 50%
c. Hem iii. 100%
d. SR iv. 95%
e

a b C d
(A) i i iv il
(B) iv i i il
(C) i i i iv
D) i i i v
TG o GA0T H, g ¥ URER] 95T

Bl & | B 9 A ufawaT qeis
T T TohaT ST Gehell & 2

(C) R A PIRERE

(D) AT AGeFeH Uiqaa-

T 5T 7T Fort F @ B AT W@ 2

(A) TR O ST, TS S
I - feITE g WY WA ¢ |

(B) 3Tentyd

©

(D) '
3 for9] g <X B AR HA E |
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63. Which is not true about estimation of
fertility by ‘own-children’ method ?

(A)

(B)

©

D)

64. Why

Useful for less developed
countries where vital
registration is often seriously
deficient.
Estimates of fertility can be
tabulated by recorded
characteristics of mothers in
Census/household surveys.
The age-pattern of fertility can
be severely distorted by age
misreporting.
The own children method can
also yield birth interval
statistics.
India’s

Family  Planning

Programme is criticised with respect
to gender’s perspectives ?

(B)
©

Over reliance on female’s
sterilization

Targeted approach with poor
concern for quality

Lack of facilities and
supply of contraceptives
Limited choice of methods for

short

65.

D)

couples

Match List — I with List — 11 :

a.

List-1

If there is
technical
advancement
along with growth
of population, then
per capita income
will increase.
People are free to
migrate in the
way they like
Increasing
population alone
could bring
rapidity in
economic
development
Migrations are
always selective
and is much linked
with the place of
origin and that of
destination

Codes :

(A)
(B)
(©)
D)

a b C
i iv i
i i iv
i v
iii i iv

Paper-I11
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ii.

1il.

1v.

List — II
Peterson’s

theory of
migration

Lee’s theory
of migration

Theory of
low level of
Equilibrium

August
Losch

16

66. Match List — I with List — 1T :

a.

List -1
A constant
schedule of
fertility and
mortality
resulting in an
unchanging
proportional age
distribution
A population with

a fixed age and
state composition
that emerges from
a long history of
constant age and
state specific rates
of birth, death and
inter state
migration.

Age structure of a

population will not
be greatly altered
as long as fertility
stays constant even
if mortality is
changing over time.
d. Describes

variations among

population, or
overtime, without
specifying the
form of pattern of
mortality by age.
Codes :
a b c
(A) v i i
(B) i il i
© i i il
D) i i il

67.

i.

1l.

iii.

1v.

d
il
v
v
v

List - II
Quasy-
Stable
Population
theory

Logit
mortality
relational
model

Multi-
state
stable
population
theory

Stable
population
theory

Which is not the condition under

Rashtriya Swasthya Bima Yojana ?

(A)

family.
B)
©
(D)

It covers only 5 members of

It covers only BPL population.
It covers only OPD services.
It covers only IPD services.
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63.

64.

65.

‘T foegT (IR S=) USRI
TS &THT % STl & aR | o7 T
TEHE?

(A) 9 fossfaa I o fere Swamm &
&l S-S0 U TR
TOHZFTE |

TS &9l % A SO
URaR  |AOl H  HTST Wl
frpice fomuaret gRT dlctshes
fopu ST Teh € |

TSHA ST 1 3T 1 Yo 3Ty
T AT GoT & Tt fad &
THATE |
Tifegent o U= T el & |

AR o TRAR IS HEshT o Sl Trsied

o T § T AT Sl & 2

(A) T & THHIOT W AT FRar

(B) TUIERT % AT w9 WIHR * IqrT
AR

(B)

©

D)

(A) i v i i
B) i i iv i
) i i iv i
D) i i iv i
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66.

67.

fefetfaa st gafed i
e -1 = - 11
a. SUNAdd  STUNA® i FE-

g famor ¥ Wead — wmr

TSI O o S W/ e
T 3G | g

b. TR g a1 579 9 ii. diie
% T fafere S A gg R
T ICTHT TaE & Oy
T e ¥ IHA WH
e feR g dw Hed
T HEeT & qY
SEEET |

c. SHE®EN H g W iii. TGIT
FE €T F W agert R
& ek WS &l ey SeeE
T T oI g | fEwd
TR T T E |

d. g ER g WH U iv. fer
F e fHT TR ST
SHEET W uReds & g
AR uReadd @
U |

FE:
a b c d

(A) 1v i i ii

B) 11 i i v

© 1 1i1 il v

M) i i i v

LT @ S AT & iad =

o F D Gt 91 AN Tel &t & 9

(A) ST FHaA INER & U el
TR & AN Bt & |

(B) IE ASHI FHaed Ta & &@r o
e S Ao A del TR
TR ] &l € |

(C) T IISHT aTer AT oSt grerematt
R AN Bl € |

(D) T FISHT AT TAST grerematt

T AN &l & |
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68.

69.

70.

Given below are two statements. One
labelled as Assertion (A) and the
other is labelled as Reason (R).
Select the right answer :

Assertion (A) : Fertility has not
declined to desired level in
some of the states in India.

Reason (R) : Age at marriage is still
low in these states.

Codes :

(A) Both (A) and (R) are correct,
but (R) is not only explanation
of (A)

(B) Both (A) and (R) are correct
and (R) is explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements. One
labelled as Assertion (A) and the
other is labelled as Reason (R).
Select the right answer :

Assertion (A) : Family Planning
acceptance in rural areas is
lower than urban areas.

Reason (R) : Attitude of rural people
towards family planning is not
favourable.

Codes :

(A) Both (A) and (R) are correct
and (R) 1is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) 1is not the only
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Open birth intervals are likely :

(A) To be longer than closed birth
interval

(B) To be shorter than closed birth
interval.

(C) To be about the same length on
closed birth interval.

(D) Itis not possible to compare.

71.

72.

73.

74.

75.
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What is full form of NHSRC ?

(A) National  Health Systems
Research Centre
(B) National  Health  Systems

Resources Centre.

(C) National Household Survey
Resource Centre

(D) National Health and Sanitation
Research Centre

A traditional CBD of a city is the hub
of

(A) Industrial Activity

(B) Retail Trade

(C) Wholesale Trade

(D) Residential Enclaves

The emotional violence among ever-

married women in the National

Family Health Survey (NFHS) III

was measured using which among

the following questions ?

Does/did your (last) husband ever :

(A) Say or do something to
humiliate you in front of others ?

(B) Threaten to hurt or harm you or
someone close to you ?

(C) Insult you or make you feel bad
about yourself ?

(D) All of above

The difference between a generation

life table and a period life table is

that

(A) The radix is different

(B) One refers to a true birth cohort
and the other does not

(C) One uses a different method for
calculating q,, than other

(D) None of above

Out of pocket expenditure was
proposed in the area of

(A) Education (B) Health
(C) Food (D) Clothes
J-15-14
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